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101 2 2 2 2 2 10 10
102 2 2 2 2 2 10 10
103 2 2 2 2 2 10 10
104 2 2 2 2 2 10 10
105 2 2 2 2 2 10 10
106 2 2 2 2 2 10 10
107 2 2 2 2 2 10 10
108 2 2 2 2 2 10 10
109 2 2 2 2 2 10 10
110 2 2 2 2 2 10 10
111 2 2 2 2 2 10 10
112 2 L6 | 2%(H®)| 2 2 2 19.6 9.6
113 2 2 2 2 2 10 10
114 2 1.6 [F#3(EB)| 2 1.8 2 194 9.4
115 2 2 2 2 2 10 10
116 2 2 2 1.5 2 195 9.5
117 2 1.6 [##(flge) 2 2 2 19.6 9.6
118 2 1.6 [#w (Faim) 2 1.8 2 194 9.4
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207 | 2 2 2 | 2 | 2 |10 10
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210 | 2 2 2 | 2 | 2 |10 10
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309 | 2 2 o | 1.8 | 2 |98 9.8
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311 2 2 9 2 2 | 10 10
312 | 2 2 9 2 2 | 10 10
313 | 2 2 9 2 2 | 10 10
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505 9 9 9 9 2 | 10 10
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506 AN 9 9 2 | 9.6 9.6
601 9 9 o | 1.8 ] 2 |98 9.8
602 9 2 9 9 2 | 10 10
603 9 2 9 9 2 | 10 10
604 | 2 | 16 o | 1.8 ] 1.8 |9.2 9.9
H 4
605 2 g |7 °(FH 2 2 2 | 9.6 9. 6
W)
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606 o | g |EF(HH 9 9 2 | 9.6 9.6
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